BAYVI EW RATTAN L-SHAPE OUTDOOR SOFA

|

Sofa Backrest - 1 pc Sofa Bottom -1 pc

Chaise Bottom - 1 pc

—

@ M6 x 40mm Bolt M6 x 15mm Bolt - 12 +1 pcs @ M6 Washer - 35 + 3 pcs
-17 +1 pcs

.
» P

®

@ Chaise Arm -1 pc

©

)

@ End Cap - 2 pcs @ Allen Key - 2 pcs @ Corner Brace - 3 pcs

DO: DON'T:

Make sure the allen key is fully inserted into Don't use this product if parts are missing or damaged.
the bolt head to prevent stripping.

Don't use power tools in the assembly process.

Protect your product from weather. Don't overtighten bolts during assembly.
In times of freeze or winter weather,

we suggest you store the productin

covered dry area.



ATTENTION:

Please note that during the assembly of each item, bolts should not be completely
tightened until all pieces of that item have been fit together.

To prevent wobbling of the chairs and bench, it's best to fit all pieces together with
the bolts still loose, apply some weight to the seat, and then tighten the bolts.

STEP 1 Using the M6x40mm bolts (AA)
and M6 washers (CC), attach the
sofa backrest (A) to the sofa bottom
(B).

STEP 2 Using the m6x40mm bolts (AA)
and m6 washers (CC) attach the
sofa end (C) to the sofa bottom (B)
and sofa backrest (A).

STEP 3 Use the m6x40mm bolt (AA) and
m6 washer (CC) to secure the sofa end (C) to
the sofa back rest (A). Then use the m6x15mm
bolts (BB) and m6 washers (CC) to attach the
corner braces (GG) as shown below.

STEP 4 Using the m6x40mm bolts (AA)
and m6 washers (CC), attach the
chaise arm (D) to the chaise
bottom (E).




STEP 5 Using the m6x40mm bolts (AA)
and m6 washers (CC), attach the
sofa end (C) to the chaise bottom
(E) and chaise arm (D).

STEP 6 Use the m6x40mm bolt (AA) and
m6 washer (CC) to secure the sofa end (C) to
the chaise arm (D). Then use the m6x15mm
bolts (BB) and m6 washers (CC) to attach the
corner braces (GG) as shown below.

STEP 7 Using the m6x40mm bolt (AA) and
m6 washer (CC) attach the assem-
bled sofa and chaise pieces.

0® i




LIMITED 1-YEAR WARRANTY

WHAT IS COVERED

This warranty covers any defects in
materials or workmanship, with the
exceptions stated below.

HOW LONG COVERAGE LASTS

This warranty runs for one (1) year from
the date of purchase.

WHAT IS NOT COVERED

The warranty applies only to the original
purchaser and does not cover: (a) wear
and tear; (b) improper maintenance,
misuse, or alteration; (c) repair by
unauthorized representatives; (d)
damage resulting from transit or
handling; or (e) transportation costs.

WHAT WE WILL DO

At our sole discretion we will repair,
replace, or refund any product that
proves to be defective in materials or
workmanship.

HOW TO GET SERVICE

Email “warranty@mavenliving.com” to
submit your warranty claim. Please keep
your receipt so that we may process
your warranty request.

HOW STATE LAW APPLIES

This warranty gives you specific legal
rights, and you may also have other
rights which vary from state to state.

The foregoing warranty shall be exclusive and in lieu of any other warranty, express or

implied, including warranties of merchantability and fitness for a particular purpose

and all other warranties otherwise arising by operation of law, course of dealing,

custom, trade, or otherwise. Neither the seller nor the manufacturer shall be liable for

any injury, loss or damage, direct or consequential arising out of the use or inability to

use this product.

WARRANTY FULFILLED BY MAVEN



BAYVI EW SOFA PARA EXTERIORES TIPO L DE MIMBRE

T

Sofa Backrest - 1 pc Sofa Bottom -1 pc

Chaise Bottom -1 pc

—

@ Perno M6 x 40 mm Perno M6 x 15 mm @ Rondana M6 - 35 + 3 pcs

-17 +1 pcs -12 +1 pcs

5
55 -
o S

®

@ Chaise Arm -1 pc

©

&

@ Cubierta de perno @ Llave Allen - 2 pcs @ Soporte de esquina
-2 pcs -3 pcs

=

LO QUE DEBES HACER: LO QUE NO DEBES HACER:

Asegurarte de que la llave Allen esté insertada Usar el producto si las piezas estan incompletas
por completo dentro del perno para evitar que o danadas.
se deslice.
Usar herramientas eléctricas durante el proceso
Proteger el producto de impactos del clima. de ensamblaje.
En época de nieve o clima invernal, sugerimos
gue guardes el producto en un area cubierta Apretar demasiado los pernos durante el ensamblaje.

y seca.



ATENCION:

Toma en cuenta que, durante el ensamblaje de cada elemento, no se deben apretar por completo los
pernos hasta que todas las piezas del elemento estén unidas.

Para evitar que las sillas de la banca se bamboleen, es mejor unir todas las piezas con los pernos atin
flojos, aplicar algo de peso al asiento y asi apretar los pernos.

STEP 1 Conlos pernos M6 x 40 mm (AA)y
las rondanas M6 (CC), une el respal-
do del sofa (A) a la parte inferior del

mismo (B).

CC

STEP 2 Conlos pernos M6 x 40 mm (AA)y
las rondanas M6 (CC), une el
extremo del sofa (C) a la parte
inferior del mismo (B)y a su
respaldo (A).

STEP 3 Use el perno M6 x 40 mm (AA)y la
rondana M6 (CC) para asegurar el extremo del
sofa (C) al respaldo del mismo (A). Después,
use los pernos M6 x 15 mm (BB) y las rondanas
M6 (CC) para unir los soportes de la esquina
(GG) como se muestra a continuacion.

STEP 4 Con los pernos M6 x 40 mm (AA)y
las rondanas M6 (CC), une el brazo
del divan (D) a la parte inferior del
mismo (E).




STEP 5 Con los pernos M6 x 40 mm (AA)y
las rondanas M6 (CC), une el
extremo del sofa (C) a la parte
inferior del divan (E)y a su brazo (D).

STEP 6 Use el perno M6 x 40 mm (AA)y la
rondana M6 (CC) para asegurar el extremo del
sofa (C) al respaldo del mismo (D). Después,
use los pernos M6 x 15 mm (BB) y las rondanas
M6 (CC) para unir los soportes de la esquina
(GG) como se muestra a continuacion.

STEP 7 Con el perno M6 x 40 mm (AA)y la
rondana M6 (CC) une las piezas
ensambladas del sofa y divan.




GARANTIA LIMITADA DE 1 ANO

LO QUE CUBRE

La garantia cubre cualquier defecto de
fabricacion o de material, con las
excepciones que se mencionan mas
adelante.

POR CUANTO TIEMPO ES VALIDA
LA COBERTURA

Esta garantia tiene una duracion de un (1)
ano a partir de la fecha de compra.

LO QUE NO CUBRE

La garantia solo el valida para el comprador
inicial y no cubre: (a) el desgasto por uso; (b)
el mantenimiento incorrecto, el mal uso o
la alteracion del producto; (c) la reparacion
por parte de representantes no autorizados;
(d) el daho generado por el traslado o el
manejo del producto; o (e) los costos de
transporte.

LO QUE HAREMOS

A nuestra entera discrecion, repararemos,
reemplazaremos o reembolsaremos
cualquier producto que tenga defectos de
fabrica o de material comprobables.

COMO OBTENER EL SERVICIO

Envie un correo electroénico a
“‘warranty@mavenliving.com” para presentar
su reclamacion de garantia. Guarde su
recibo para que podamos procesar su
solicitud de garantia.

COMO APLICAN LAS LEYES
ESTATALES

This warranty gives you specific legal rights,
and you may also have other rights which
vary from state to state.

La garantia mencionada sera exclusiva y reemplazara cualquier otra garantia, ya sea escrita o implicita,

como garantias de comerciabilidad o idoneidad para un fin determinado y cualquier otra garantia que

surja por disposiciones legales, usos del trafico, aduanas, comercio u otros. Ni el vendedor ni el fabricante

asumiran responsabilidad alguna por cualquier lesion, pérdida o dano, sea directo o consecuente, que

surja como resultado de utilizar o no poder utilizar este producto.

GARANTIA CUMPLIDA POR MAVEN



BAYV| EW CANAPE D'EXTERIEUR EN ROTIN EN FORME DE L

|

@ Dossier de canapé -1 pc Fond du canapé -1 pc

@ Fond de la chaise - 1 pc

—

@ Boulon M6 x 40 mm Boulon M6 x 15 mm @ Rondelle M6 - 35 + 3 pcs

-17 +1 pcs -12 +1 pcs

@ Bras de la chaise - 1 pc

\\\\
» N
- )

)

@ Couvercle de boulon @ Clé Allen - 2 pcs @ Renfort d'angle - 3 pcs
-2 pcs

FAIRE: NE PAS FAIRE:

Assurez-vous que la clé Allen est compléetement  N'utilisez pas ce produit si des pieces sont manquantes
insérée dans la téte du boulon pour éviter le Ou cassées.

stripping.

N'utilisez pas d'outils électriques dans le processus

Protégez votre produit des intempéries. d'assemblage.
Pour I'hiver, nous vous suggérons de stocker le

produit dans un endroit sec et couvert. Ne serrez pas trop les boulons pendant I'assemblage.



ATTENTION:

Veuillez noter que lors de I'assemblage de chaque article, les boulons ne doivent pas étre compléte-
ment serrés jusqu’a ce que toutes les piéces de cet article ont été assemblées.

Pour éviter que les chaises du banc ne vacillent, il est préférable d'assembler toutes les piéces avec les
boulons encore desserrés, d'appliquer un peu de poids sur le siége, puis de serrer les boulons.

STEP 1 A l'aide des boulons M6x40 mm
(AA) et des rondelles M6 (CC), fixez
le dossier du canapé (A) au fond du

canapé (B).

CC

STEP 2 Al'aide des boulons M6x40 mm
(AA) et des rondelles M6 (CC), fixez
I'extrémité du canapé (C) au fond
du canapé (B) et au dossier du
canapé (A).

STEP 3 Utilisez le boulon M6x40mm (AA)
et la rondelle M6 (CC) pour fixer I'extrémité
du canapé (C) au dossier du canapé (A).
Utilisez ensuite les boulons M6x15 mm (BB)
et les rondelles M6 (CC) pour fixer les renforts
d'angle (GG) comme illustré ci-dessous.

STEP 4 A l'aide des boulons M6x40 mm
(AA) et des rondelles M6 (CC), fixez
le bras de la chaise (D) au fond de
la chaise (E).

h
®

.I
>




STEP 5 A l'aide des boulons M6x40 mm STEP 6 Utilisez le boulon M6x40mm (AA)
(AA) et des rondelles M6 (CC), fixez | et la rondelle M6 (CC) pour fixer I'extrémité du

I'extrémité du canapé (C) au fond canapé (C) au dossier du canapé (D). Utilisez
de la chaise (E) et du bras de la ensuite les boulons M6x15 mm (BB) et les
chaise (D). rondelles M6 (CC) pour fixer les renforts d'an-

gle (GG) comme illustré ci-dessous.

STEP 7 A l'aide du boulon M6x40mm (AA)
et de la rondelle M6 (CC), fixez le
canapé et les piéces de la chaise
assemblés.

0® (¢




GARANTIE LIMITEE DE 1 AN

CE QUI EST COUVERT PAR LA
GARANTIE

Cette garantie couvre tout défaut de
matériau ou de fabrication, sauf indication
contraire ci-apres.

COMBIEN DE TEMPS DURE LA
GARANTIE?

Cette garantie couvre tout défaut de
Mmatériau ou de fabrication, sauf indication
contraire ci-apres.

CE QUI N'EST PAS COUVERT PAR LA
GARANTIE

La garantie ne s'applique gqu'a l'acheteur
original et ne couvre pas: a) 'usure; (b) un
Mmauvais entretien, une mauvaise utilisation
ou une altération; (c) réparation par des
représentants non autorisés; (d) les
dommages causés par le transit ou la
manutention; ou (e) les frais de transport.

CE QUE NOUS FERONS

A notre seule discrétion, nous réparerons,
remplacerons ou rembourserons le prix
d’achat de tout produit qui s'avérera
défectueux en raison d'un défaut de
matériaux ou de fabrication.

COMMENT OBTENIR LE SERVICE DE
GARANTIE

Envoyez un courriel a «
warranty@mavenliving.com » pour
soumettre votre demande de garantie.
Veuillez conserver votre recu d'origine afin
gue nous puissions traiter votre demande
de garantie.

COMMENT S'APPLIQUE LA LOI DE
L'ETAT

Cette garantie vous donne des droits
juridiques spécifiques et vous pouvez
également disposer d'autres droits qui
varient d'un état/province a l'autre.

La présente garantie est exclusive et remplace toute autre garantie, expresse ou implicite, notamment les garanties

de qualité marchande et d'adéquation a un usage particulier et de toutes les autres garanties découlant autrement

en vertu de la loi, du cours des affaires, personnalisé, commerce, ou autrement. Ni le vendeur ni le fabricant ne

seront tenus responsables des blessures, pertes ou dommages, directs ou indirects, résultant de I'utilisation ou de

I'impossibilité d'utiliser ce produit.

GARANTIE TRAITEE PAR MAVEN



